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सामान्य क्षनदशे- (General Instruction) : 

 परीिार्थी यर्थासंभव अपने शब्दों में उत्तर दें। (Examinee write answer in their own words 

as far as practicable.)  

 कुल प्रश्नों की संख्या 19 ह।ै (The total number of questions are 19) 

 

 प्रश्न संख्या 1 से प्रश्न संख्या 7 तक अक्षत लघु उत्तरीय प्रश्न हैं। इनमें से ककन्हीं पााँच प्रश्नों के उत्तर 

दीक्षिए। प्रत्येक प्रश्न का मान 1 अंक क्षनधागररत ह।ै (Question number 1 to 7 are very short 

answer type questions. Answer any five of them. Each question carries 1 mark.) 

 प्रश्न संख्या 8 से प्रश्न संख्या 14 तक लघु उत्तरीय प्रश्न हैं। इनमें से ककन्हीं 5 प्रश्नों के उत्तर में दीक्षिए। 

प्रत्येक प्रश्न का मान 3 अंक क्षनधागररत ह।ै(Question number 8 to  14 are short answer type 

questions. Answer any five of them. Each question carries 3 marks.) 
 

 प्रश्न संख्या 15 से प्रश्न संख्या 19 तक दीघग उत्तरीय प्रश्न हैं। इनमें से ककन्हीं तीन प्रश्नों के उत्तर दीक्षिए। 

प्रत्येक प्रश्न का मान 5 अंक क्षनधागररत ह।ै(Question number 15 to 19 are long answer type 

questions. Answer any Three of them. Each question carries 5 marks.) 
 

 

 

Section A 

Very short answer questions(vfr y?kq mÙkjh; iz”u) 

 

1. What is the unit of dipole moment ?                                                                    

   द्विधु्रव आघूर्ण dh bZdkbZ D;k gS\   

 

2. What is the standard enthalpy of formation of O2(g) ?  

    O2(g) ds fy, ekud lEHkou ,UFkSYih D;k gksxh \ 

 

3. Write chemical formula of diborane ?  



  Mkbcksjsu dk jlk;fud lw= fy[ksaA 

 

4. At 298K, pH of a solution is 6. What will be the value of pOH for this 

    solution? 

    298K rki ij fdlh foy;u ds pH dk eku 6 gS rks ml foy;u ds pOH dk eku    

   D;k gksxk\ 

 

5. Define redox reactions.  
  fjM‚Dl vfHkfØ;k dks ifjHkkf’kr djsaA  

 

 

6. Write IUPAC name of  : 

    IUPAC uke fy[ksa : 

     
 

7. Out of boron (B) and aluminium (Al) which has higher first ionisation     

    enthalpy ?  

    cksjksu (B)  ,oa एलु्यद्विद्वियि (Al)  eas द्विसिा izFke vk;uu ,UFkSYih dk eku vf/kd gS \  

 

 

 

 

Section - B 

Short answer type questions ¼y?kq mÙkjh; iz”u ½ 

 

8. Write about the following: 

     (a)  Standard enthalpy of formation 

     (b) Hess’s law of constant heat summation  

    

   fVIi.kh fy[ksa : 

   d½ ekud lEHkou ,UFkSYih     [k½ gsl ds fLFkj ÅtkZ ladyu dk fu;e 

 

9. Draw resonating structures of 𝐶𝑂3
2− ion.  

     𝐶𝑂3
2− vk;u dh vuquknh lajpuk,a fy[ksaA  



10. Write equilibrium constant expression for the following reactions: 

   fuEu vfHkfØ;kvksa ds fy, lkE; fLFkjkad dk O;Tkad fy[ksaA  

        (a) N2(g)    +   3H2(g)      ⇌     2NH3(g) 

        (b) H2(g)    +   I2(g)          ⇌   2HI(g) 

        (c) CO2(g)  +   C(s)          ⇌     2CO(g) 

 

11. What do you understand by: 

       (a) Inert pair effect                                 (b)  Catenation  

   fuEu inkas ls vki D;k le>rs gSa \  

    d½ vfØ; ;qXe izHkko                [k½+ J`a[kyu 

 

12. Which of the following species do not show disproportionation reaction 

      and why ? 

     fuEu esa ls dkSu vlekuqikru vfHkfØ;k iznf”kZr िह ीं djrk gS vkSj D;ksa \ 

     ClO-, 𝐶𝑙𝑂2
−, 𝐶𝑙𝑂3

−  and 𝐶𝑙𝑂4
− 

 

13. Explain the following with one example: 

      (a) Wurtz reaction                     (b) Friedel crafts alkylation reaction 
   

    fuEu dh O;k[;k ,d mnkgj.k ds lkFk djas  

   d½ oqV~tZ vfHkfØ;k            [k½ fÝMsy Øk¶V एल्काइलेसि vfHkfØ;k 

 

14. Explain why the given compound is not aromatic? 
    O;k[;k djas fd fn;k x;k ;kSfxd ,jksEkSfVd D;ksa ugha gSa \ 

 

 

 

 

 

 

Section - C 

Long answer type questions ¼ nh?kZ mÙkjh; iz”u ½ 

 

15. How will you convert benzene into: 

      (a) p-nitrobromobenzene 

      (b) m-nitrochlorobenzene 

      (c) Toluene 



   csathu dks fuEu esa ifjofÙkZr djsa:  

    d½ p-ukbVªksczksekscsathu              [k½ m-ukbVªksDyksjkscsathu                x½ V‚ywbZu  

 

16. Balance the following reaction by oxidation number method: 

 

       𝑀𝑛𝑂4
−(aq)  +  𝐵𝑟−(aq) MnO2(s)  +  𝐵𝑟𝑂3

−(aq)  (in basic medium) 
      

     v‚Dlhdj.k la[;k fof/k }kjk fuEu vfHkfØ;k dks larqfyr djas:  

      𝑀𝑛𝑂4
−(aq)  +  𝐵𝑟−(aq) MnO2(s)  +  𝐵𝑟𝑂3

−(aq) ¼ {kkjh; ek/;e½   

 

17. Write the main postulates of Molecular Orbital Theory. Draw a MO    

     diagram of N2 molecule.  

    vkf.od d{kd fl}kar ds eq[; vo/kkj.kkvksa dks fy[ksaA N2 v.kq ds fy, vkf.od    

    d{kd vkjs[k cuk,aA 

 

18. The equilibrium constant for a reaction is 10. What will be the value of 

     ∆𝐺°? R =  8.314JK-1 mol-1 , T = 300K.  

    fdlh vfHkfØ;k ds fy, lkE; fLFkjkad dk eku 10 gS ml vfHkfØ;k ds fy, ∆𝐺° dk eku Kkr   

    djsaA ¼ R =  8.314JK-1 mol-1 , T = 300K½ 

 

19. Write conjugate bases for the following:  

    fuEu vEykas ds la;qXeh {kkjksa dks fy[ksa: 

     (a) HF     (b) H2SO4      (c) H2O           (d) NH3       (e) 𝐻𝐶𝑂3
− 

 


